—

— | D~

— | <t

— 0 D.H_



401 OPA A ATFAL A0 ShEol - 7P ol et
o Aokg I W Bl vio] AW AUA TS

au- ol
[ =



JIE2AQ,

0,552,5

@ 25=+5 @ 250+5

O 25+5

3 250 =0.5

@ 25 =50



o Aoz nA ALt
£ 2EHE AP oAL,

st

rr

1}

g

il

Y,




2 % UeAle] ol Hg AL 2 ol AYU

@® 20.088 + 64.8 @ 20.088 + 6.48 ® 20088 + 648

@ 2008.8 =~ 6.48 ®3 2.0088 = 0.648






T 48 Aelh2 HEOA L,

T

oM

16 :[_|

x[): x[)

4:7




A A%0) u] 2 UeAl .




9. E=#7}100.48cm?Ql €O 52| Aol= E cmYY7}?

Qe e






— | D~ | 00
— I~

o | e | b~

0O | <H

Q@ ©



12, the B4o) Weale sha e,




2
12
©3

|—\ Al | o
»
N\

Al
2
® 5§

mj

O

2
6=
®3

13. [ [ oko] gk
1
@® 6g



14. At 23t 7 2

@ 3+1
%
@ 6+=
4



BH
%
o
oju
o0
o &
Of iy
Wr__o WH
y o°
o H
T B
~ O
mmr__o q
o|J Y
op om
™

15. o

[ S

\m




3} Fgo] 22 Lol 1o gre 2
1:39] 1] Zhk 2+ T)



U7

N

BK

~

®
15 A]

T

N

@ 14 A

T

~

@
13 A]

N

©)
17 A]

T

N

@ 16 A



o

w
Nfo
Bo

oln

o] RHA]

@

F)=(REA5)x3.14 YU .

!



oy

o|J
P

10| O

~ o

10 | ©

© W0 Ib-

Q@ ©

© 0

0 [~ e~



J

__i

= W5yt
}5ol 8.4kg o] 17| E



21. Zolrk44m el Fo] Yk, A4S T A EFH: o Bl 275m
Basthd A4S 2 A Y 4 A T e

B e 7



22,

R

® 45+16=2---13

® 9-035=25---0.25

& B D2AL (F37)

@ 234+11=21---0.3



-0.007

| ]+132=041--




24.

ulg]Ale] u}2 A7) 4ol 2

RAe ol AYUAY

13
®i?_7 10 © 0.7:09=7:90
@8%* 0:4 ® 48:8=3:5
@ 06:1=15:25 ® 10:1=100:2
® 9,0,8 @ ©,6,.0 ® 0,0,

® ,0e,0 ® 6,6,




25. 02 1o g 4POR $7 e AL ol AY

@D 3Z07 o]=o]A Q1L
@ 1=t = g7ho] BRI} AFLE 94U T

QoML rgFe . A4tk

|

@ =% 12719) B71Ro} A8 HAE

® LEH dod & B2 YT




